

1963

$$\alpha) f(x) = g(x) \Leftrightarrow x^2 = 2x + (1-2) \Leftrightarrow x^2 - 2x + (2-1) = 0 \quad (1)$$

$\Delta = 2^2 - 4(1-1) = 2^2 - 4 + 4 = (2-2)^2 \geq 0$ για κάθε $2 \in \mathbb{R} \setminus \{0\}$
Άρα οι C_f, C_g έχουν τουλάχιστον ένα κοινό σημείο

$$\beta) \text{ Πρίπτωση: } \Delta = 0 \Leftrightarrow (2-2)^2 = 0 \Leftrightarrow 2-2 = 0 \Leftrightarrow 2 = 2$$

$$\text{Τότε: } f(x) = g(x) \stackrel{2=2}{\Leftrightarrow} x^2 = 2x - 1 \Leftrightarrow x^2 - 2x + 1 = 0$$

$$\Leftrightarrow (x-1)^2 = 0 \Leftrightarrow x-1 = 0 \Leftrightarrow x = 1 \rightarrow y = f(1) = 1^2 = 1$$

Άρα το κοινό σημείο είναι το $(1, 1)$

$$\gamma) x_1 + x_2 = S = -\frac{b}{a} \stackrel{(1)}{=} -\frac{(-1)}{1} = 1$$

Τότε:

$$(x_1 + x_2)^2 = |x_1 + x_2| + 2 \Leftrightarrow S^2 = |S| + 2 \Leftrightarrow$$

$$\Leftrightarrow 1^2 = |1| + 2 \Leftrightarrow 1 = 1 + 2 = 3 \quad \text{αδύνατο!}$$

$$\text{Θέτω: } |2| = \omega. \text{ Τότε: } \omega^2 - \omega - 2 = 0$$

$$\Delta = (-1)^2 - 4 \cdot 1 \cdot (-2) = 1 + 8 = 9 > 0$$

$$\omega_{1,2} = \frac{-(-1) \pm \sqrt{9}}{2} = \frac{1 \pm 3}{2} \rightarrow \omega_1 = \frac{4}{2} = 2$$

$$\rightarrow \omega_2 = -\frac{2}{2} = -1$$

$$\text{Άρα: } |2| = 2 \quad \text{ή} \quad |2| = -1$$

$$2 = 2 \quad \text{ή} \quad 2 = -2$$

αδύνατο!